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第2章 英検準1級句動詞問題攻略法＆大特訓

　第2章からは多くの英語学習者にとって最も苦手とされる「句動詞」を徹底的
にトレーニングいたしましょう。英検準1級に出題される句動詞は、英語コミュ

ニケーションの基礎となる実用的で生き生きとした表現にあふれ、準１級合格
に欠かせないのはもちろん、リスニング力およびスピーキング力を含む英語の

総合力アップに重要な必須表現ばかりです。にもかかわらずこの句動詞は、英語
上級者でさえもあまり力を入れて勉強せずおざなり状態で、お手上げの人が多
く、中級レベル以上の英語学習者の実力アップを大幅に阻んでいると言っても

過言ではありません。私は過去にシンガポールで生まれ育った日本人高校生に

英検１級指導を行ったことがありましたが、彼は準１級レベルの句動詞は完璧
に使いこなしていました。さすがに、英検１級レベルの表現にもなると手も足も

出ない状態でしたが、彼のようにナチュラルで流暢な英語を話せるようになる

には、準1級で出題される句動詞表現は必ず習得しなくてはならないと再確認
しました。

　このセクションでの徹底トレーニングで最重要句動詞をマスターすれば、準
1級のボキャブラリーやリスニングセクションのスコアアップのみならず、2
次面接合格に不可欠な表現力もグーンとアップすること間違いありません。

CD音声で繰り返し音読し、気合いを入れて何度も復習してください。後半の大
特訓は読者の皆さんの英語発信力がさらにアップするよう、日英でのアプロー

チにしています。では、用意はいいですか？　まずは現在の自己レベルを把握す

るための診断テストからです。張り切ってスタート！

 

あなたの句動詞力診断テスト

（１問１点）

1. Teachers believe that the rapid decline of math ability in children 
（    ） the fact that math classes have been cut by 30 percent over the 
past five years.
1. opts for　2. takes after　3. stems from　4.brushes off

2.  A: I’m tired, so I’m going to （      ） for the night.
B: OK. Good night. I’ll see you in the morning.
1. pass on　2. go under　3. hold out　4. turn in

3. The musician has been accused of （      ） in recent years. Fans say he 
used to be really creative but now he just writes ordinary pop songs 
to make more money.
1. dragging on　2. staying up　3. selling out　4. pulling through

4. Bill really enjoyed his new job at the hospital as it allowed him to 
（      ） his experience working at a retirement home.
1. draw on　2. pull out　3. roll up　4. lay off

5. Police say the theft of four cars from the showroom was probably 
gang-related. However, they have not （    ） the possibility that 
employees of the car dealership were involved.
1. marked down　2. run into　3. stuck to　4. ruled out

6. Electronics companies are constantly （     ）older models of 
electrical appliances as newer, more efficient models are developed.
1. striking up　2. phasing out　3. telling on　4. weighing down

7.  A: How was your date, Pamela?
B: Fantastic. We went to see a show, then had a really romantic 
dinner. We （      ） the night with drinks at a great jazz bar.
1. called off　2. added up　3. rounded out　4. scaled down

8. The company received 40 applications for the job opening. After 
reviewing the applicants’ résumés, the personnel manager （      ） the 
list to five candidates.
1. rooted for　2. handed in　3. watered down　4. narrowed down
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問題4（先読み上級レベル）
1. Their products contain added vitamin supplements. 
2. Their products are safer than meat-based pet food. 
3. Independent studies recommend their products. 
4. Labeling requirements are stricter for their products.

　トピックは「ペットフード」で、問題3は、2が全く他の選択肢との関連性
がなく、1（They cause obesity.）と3（They lack key nutrients.［栄
養素］）と4（They do not provide enough carbohydrates.［炭水化
物］）の共通事項は、「何かの問題点」であることがわかります。さらにもっと
関連しているのは3と4の「足りないもの」でしょう。正解は3。問題4は、1
（Their products contain added vitamin supplements.）と2（Their 
products are safer than meat-based pet food.）の共通事項が、「製品
のメリット」で、他の選択肢は関連性がありません。正解は2。

問題5（先読み中級レベル）
1. It is not usually related to lack of sleep. 
2. It is generally caused by hormonal changes. 
3. It is sometimes linked to other illnesses. 
4. It is partly the result of social pressure.  　

問題6（先読み中級レベル）
1. They show their feelings less. 
2. They display greater aggression toward people. 
3. They become more dependent on their family. 
4. They avoid interactions outside the home. 

　トピックは「子育ての危険」で、問題5は少し難しく、1. is not usually 
related to ～ 2. is generally caused by ～ 3. is sometimes linked 
to～ 4. is partly the result of～の選択肢はすべて「因果関係」に関す
るものであうると思うかもしれませんが、1は否定なので省き、3より
も、itの「原因」を表す2と4に絞ることができます。正解は4。問題6は、ま

特集：パッセージ式リスニング問題　選択肢から正解が見える！②

次の選択肢の共通事項は何か考えてみてください。

問題1（先読み中級レベル）
1. He suffered from mental health problems. 
2. He did not attempt to resist the mutineers. 
3. He was the victim of a negative campaign. 
4. He ignored the accusations of his enemies.  

問題2（先読み中級レベル）
1. He had the support of the majority of his crew. 
2. He was aware of his own weaknesses. 
3. He commanded the Bounty again after the mutiny. 
4. He was defended by his relatives.

　
　問題1の共通事項は、1（He suffered from mental health problems.）
と3（He was the victim of a negative campaign.）の「どうしてひど
い目に遭ったか」であることがわかりますか。正解は3。問題2の共通事項は、
1（He had the support of the majority of his crew.）と4（He was 
defended by his relatives.）の「何に支持されたか」で、2と3は関係がな
いことがわかるでしょう。これがわかれば問題が予測できると同時に、解答
も絞ることができます。 正解は1。

問題3（先読み中級レベル）
1. They cause obesity. 
2. They are not yet widely available. 
3. They lack key nutrients. 
4. They do not provide enough carbohydrates. 


